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Class Questions
Question 1) Friday 13th

Every Friday 13", Veronica announces what day of the week the
last day of the month will be.

One month she made a mistake. Which of the following is the mis-
take that she made?

“Today, Friday 13, | can guarantee that ...

- the last tday of the month will be a Friday.”




Class Questions
Question 2) Labels

Iin the diagrams below, all shapes are labelled either A, B or C.

I nthls box thereAare l box.there;are
more Bs than AS 2 As, 2 Bs and 2 Cs
® All shapes labelled A are round.
- All shapes labelled C contain a dot.

What label is associated to the black square with a dot?




Class Questions
Question 3) Order

Consider the following pieces labelled A to F.

1 - i

You have been asked to lay the pieces out in a line in an order that
satisfies the following requirements:

e No. 2 has at least one square « No. 4 has two black objects
e No. 3 has at least one triangle e« No. 5 has two white objects
e« No. 6 has one star e No. 3 has at least one black
« No. 1 has two circles shape

What is Piece F’'s position??




Class Questions
Question 4) Tokens

Five tokens of different colours (blue, green, yellow, red and white)
are aligned. The blue token is on the right of the yellow token. The
blue token is on the left of the white token and on the right of the
green token. There are two tokens between the white and the red.

Which of the following statements is true?




Class Questions
Question 5) Rectangular Table

Mary, Damian, Patrick, Louisa, Karl and Rob are sitting around a

rectangular table.

| @ & |
e Damian is sitting opposite Louisa. | (1) |
e Karl is not sitting next to Damian. |
- Patrick is sitting on Louisa’s right. "
- The two women are not sitting side by side.
e Mary is occupying Seat 1.

Which of the following statements must be true?

ZA' -

Iamt-an is sitting in Seat 2 or Seat Byl won et A B
<l not sitting .pposrte Rob SR et
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Class Questions
Question 6) Who lives where?

Martin, George, Phil and Steve each live in a different city: London,
Pontefract, Manchester and Birmingham.

If Phil lives in London or Pontefract, then George lives in Manches-
ter.

If Martin does not live in London, then Steve lives in Pontefract.

If Steve does not live in Birmingham, then Phil lives in Birmingham.
If George lives in Pontefract, then Phil lives in London.

If Martin does not live in Birmingham, then George does not live in
Manchester.

Which of the following MUST be true?




Class Questions
Question 7) Coding

Consider the following numbers:

12478 — 34852 — 75261 — 57123 — 86514

Those same numbers are encoded such that each digit is replaced
by another digit in a unique way. Here are the same numbers after
they have been encoded, presented in a random order:

68479 — 86734 — 53642 — 92567 — 47285

Which number, when coded, would give 753247




Class Questions
Question 8) Guilty or Not Guilty

After a recent robbery, it has been established that one or more of
four suspects are guilty.

If Fred is guilty then they are all guiity.

If Theo is guilty then he has two accomplices.
If Eddie is innocent, then Theo isn’t.

If Victor is guilty then there are only two guilty suspects.

Which of the following must be true?




Class Questions
Question 9) Supporting Colours

Four friends, Sushama, Keith, Grace and Vijay, live in Binbury and
each support a different football team, either: Newtown United,
Weston City, Binbury City or Binbury United. United teams have a
single coloured scarf; other teams’ scarves are multi-coloured.

® Keith supports a United team.
= Grace wears a multi-coloured scarf.
® Vijay and Sushama do not support a home team.

Which of the following MUST be true?
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Class Questions
Question 10) Youth Travels

Last summer, Ann, Ben and Carole each visited a different coun-
try. Each tells the truth twice and lies once.

Ann: | visited England, Carole visited Italy, Ben visited Germany
Ben: | visited Germany, Carole visited Italy, Ann visited England
Carole: | visited England, Ann visited Austria, Ben visited Germany

Which country did Ann visit?
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Class Questions
Question 11) Coded Language

In a certain code language:

“Economics is not money” is written as “ka la ho ga”
“Demand and supply economics” is written as “mo ta pa ka”
“Money makes only part” is written as “zi la ne ki”

“Demand makes supply economics” is written as “zi mo ka ta”.

What is the code for “supply” in the given code language?

| B .nly “mo e s S g L B
C. Either “pa or mo |
‘D. Either “ta” or “mo”

12




Class Questions

Question 12) Glassware

A restaurant is planning to host a dinner for 100 people. They have
been warned by the client that diners should be given a maximum
of two glasses of wine each. This maximum applies to each diner
and diners are not allowed to use the unused allowance of one of
the other diners (i.e. if someone does not drink then no one can
drink their glass instead as their third glass).

The client sent an email to the restaurant to say that X% of the
diners will require only one glass of wine and that half of the re-
maining diners will require two glasses. Some will not require any
since they won’t be drinking.

Unfortunately the client has forgotten to state what X is and he
cannot be reached before the day of the dinner, when it will be too
late to change anything. Only one type of wine is served through-
out the evening and one bottle of wine can serve 6 glasses.

Based on the data provided, which of the following must be true?

AL The restaurant owner will need to buy 34 bottles ln crder to
'sat;sfy the cheﬁis demands s ‘ ‘

~quant;ty of wrné is be!ow 1 %.
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Class Questions

Question 13) False Positive

A laboratory can use Test A to determine whether a particular pro-
tein is contained inNn a blood sample. The probability that an individ-
ual’s blood contains the protein in question is 0.1% . Test A has the
following characteristics:

If the protein is in the blood, Test A always detects it.

VWhen Test A gives a negative result, it is 100% accurate, i.e.
it Mmeans the person does not have the protein in their blood.
VWhen 100 people with no protein in their blood were tested,
for 5 of them the test showed a positive result.

T he laboratory predicts that the probability that an individual who
tests positive actually has the protein is very low (of the order of
2% ). Which of the following applies™?

e e cases-r
B-* i .
!ow faﬂure rate But it ts ﬂ-t 95%. i
'_-Yes this is because the, low. prevaience of the p_- ;e n‘ vp es-—a

No, it shoutd be 95 /6 s:nce the test on!y gets lt wrong ln 5% of

ence makes the test very unrehable..

. The lab cannot calcu!ate,ia, percentaée using the data pro—f '
- wvided. : P g e , ety :
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Answerkey

Question Name Question Number Answers
Friday 13th 1 A
Labels 2 D
Order 3 C
Tokens 4 D
Rectangular Table 5 C
Who lives Where? 6 B
Coding 7 B
Guilty or Not Guilty 8 A
Supporting Colours 9 C
Youth Travels 10 A
Coded Language 11 D
Glassware 12 B
False Positive 13 C
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Home Assignments

Book Questions

UCAT 1250 52,54, 56, 81, 82, 84, 85, 86, 87, 88, 89,93
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